
www.toptek-co.com info@toptek-co.com 

10 

PART NO 
PCB-15(M4) 

PACKAGE 
1000 

◆ MATERIAL:TIN PLATED BRASS 
◆ UNIT:㎜ 

5 

Ø1.8(X4)  
MOUNTING HOLES K.Y 

M4X0.7P 

0.8 

13.3 

11
.5

 
5 

10
 

15
 

5    5 
1.5(X4) 

9 

    P.C.B TERMINAL 

PACKAGE 
1000 

PART NO 
PCB-70 

◆ MATERIAL:BRASS 
◆ FINISH:TIN PLATED 
◆ UNIT:㎜ 

0. 8 

6-32 UNC 

8.3 

7.5 

11.5    

1 0 

1.5 

3. 5 7 

Ø1.75(X4) 

7. 5 

5 

MOUNTING HOLES 

PART NO 
PCB-8 
PCB-8(M4)  
PCB-8(632) 

T PACKAGE  
M3X0.5P 

1000 M4X0.7P  
6-32 UNC 

11.1 
5.55 5 

Ø1.9(X4) 

MOUNTING HOLES 
THREAD: T 

4.
6 

9 .
2 

10
.1

 
5.

2 

9.
2 

1 
5 

1.6(X4) 

PART NO 
PCB-7 
PCB-7(M4)  
PCB-7(632) 

T PACKAGE 
M3X0.5P 

1000 M4X0.7P  
6-32 UNC 

◆ MATERIAL:TIN PLATED BRASS 
◆ UNIT:㎜ 

8.
5 

12
.5

 

1.6(X4) 1 
5 

11.1 
5.55 5 

4.
6 

9.
2 

10
.1

 

Ø1.9(X4) 

MOUNTING HOLES 

THREAD: T 

    P.C.B TERMINAL 

12.5 

    P.C.B TERMINAL 


